
PQ Problem 1 
 
Suppose you are a manager in P Manufacturing that makes Product P (Barnacle) only. 
The demands for Product P are 100 units per week at $90 per unit. The overhead (fixed) 
cost is $6,000. 
 
There are two raw materials: Steel Widget and Metal Bracket for products P. The unit 
costs for raw materials are $25.00 and $20.00 for Steel Widget, and Metal Bracket, 
respectively.  
 
You are going to decide how many Ps to make in order to break-even (the net profit is 
zero) for the company. 
 

 
 
 

 
------------- 
 
 



Use of Data/Table to do What-if Analysis: 
 

 
 



Use Data/Tables to do What-if Analysis when Selling Price for Product P changes: 

 
 
 
 
Suppose you are a manager in PQ Manufacturing that makes Products P (Barnacle) and Q 
(Mariner) only. The demands for Products P and Q are 100 units per week for P at $90 
per unit and 50 units per week for Q at $100 per unit.  The overhead (fixed) cost is 
$6,000. 
 
 
The production process to make products P and Q is given in the diagram bellow. The 
process starts from the bottom portion of the diagram.  
 
There are three raw materials: Steel Widget, Metal Bracket and Pine Gizmo for products 
P and Q. The unit costs for raw materials are $25.00, $20.00 and $20.00 for Steel Widget, 
Metal Bracket and Pine Gizmo, respectively.  
 



Four major work centers for the production are Drilling, Painting, Welding and 
Assembling centers. Each work center has one operator who works 40 hours or 2400 
minutes per week. As shown in the diagram, a product P is made from Steel Widget and 
Metal Bracket, and a product Q is made from Pine Gizmo and Metal Bracket. To make a 
P, Raw material Steel Widget is processed at Drilling for 15 minutes, processed at 
Welding for 10 minutes and then waits to be assembled.  To make a Q, Raw material 
Pine Gizmo is processed at Drilling for 10 minutes, processed at Painting for 15 minutes 
and then waits to be assembled. Raw material Metal Bracket is processed at Painting for 
15 minutes, processed at Welding for 5 minutes, then spends 10 minutes to be assembled 
into a P with a part made from Steel Widget or spends 5 minutes to be assembled into a Q 
with a part made from Pine Gizmo.  You are going to decide how many Ps and Qs to 
make in order to maximize the profit for the company. 
 

 


